[ number of missing inner layers |

Ratio

Ratio

<hits> vs n

= Entries 34518
E Mean 0.07382
F Std Dev 0.2965
10 oS
E Entries 30984
E Mean 0.07443
r Std Dev 0.2989
-2 eefaiiitei.id...
10 3 Entries 30106
F Mean 0.07401
o Std Dev 0.2999
10*3=— e e
-4 gy I S S SO S
107k :
10—5__ .................. S A S
S1] I FPETH ITETY FUTEY FETTI IT ' PP P T
1078 ] ] ] ] ] ] ] l ]

[ number of missing outer layers |

1

107}

1072

1073

Entries 34518

: Mean 0.3692

N Std Dev 1.104

. B |

"""""""""""""""" : " TEntries 30984

F : Mean 0.3811

L H Std Dev 112

S EA SO bt I

E + | Entries 30106

F ' Mean 0.3829

B . |Std Dev 1.125
EEEEEEE R, R PR IEEEEEEEE
Lol ) et e
NI RN BT P N

m—— DQM_TT__mkFit-DQM_original-0
=== DQM_TT__mkFit-DQM_original-127
e DQM_TT__mkFit-DQM_mod-127

25
20
15

10F

Rvel S

1

Entries 143225

R e A Mean 2.115

lo Std Dev 5.971

: I

F Entries 143225

) U SO, - SURS Mean 2.115

lo E Std Dev 5.971

E B |

[ Entries 143225

Bl Mean 2115

10 °E Std Dev 5.971
10—4 SARRRRCRCECI CRLEEEEEEEEE - CECECECECRERS EERREREREE
10—5 Loeiians P R - I .....

1038 b s
]lllllllllllllllll|E||||‘ i
*:[TTTTTTTTTTTT””H|§||||‘
0.95:
107 1 10 107 10°

C T Entries 34518

- :-| Mean 16.26

o : -{ Std Dev 7.081
103 H Entries

Mean 15.61

td Dev 7.059

10?

10

Ratio

0.9
0.8
0.7

......... * TEntries
Mean
Std Dev

o

10 15 20 25 30 35 40
track hits

5

[Nofreco track vs pT |

- - Entries 38692

i : Mean 0.8875

_1 . Std Dev 2.225

1007 T T i

F : Entries 34918

N : Mean 0.8842

2 . Std Dev 5.151

0°F AR : T

: Entries 33983

Mean 0.8902

) | . SO Std Dev 5.217
10 :

10




	Contents
	Page 1


